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In order that he should not bother us - 709 K97 92977 92

OVERVIEW

X271 X maintain that a person may pay 1127 710, in order that he should not be
bothered later when the monies are due, when he may not have the money to pay.
moon will be citing other M M3 namely concerning 3277 1179 and tenants, where the
X explicitly states that in those cases a1 T vy71® 27X PX. This seems to
contradict the view of 271 »ax. Our mMdo1n will reconcile these differences.

mooIn anticipates the following difficulty:
— 11793 NJY NPINA DY DIVYHY TINA 9192 13N (ow) x,01m 97 M) N2 W P97 ) HY 9N

Even though that we have learnt in a 71w» in 9122 @ P79 that a firstborn son
during the first thirty days after his birth it is assumed that he was not

redeemed.! This seems to contradict the views of X1 »2x who maintain that a person pays his
debt even 11T 710 in order that 77705 RX57.

mooIN responds:
— 2199210 17 PRY 1IN0 MHNT )TIVD NIT NIYLV NN 79U XY ONNT PNYY 13929 99IN)

And the "1 says that there in the case of a 7152 the reason of J7w"% X»7 is not
applicable; we cannot assume that the father redeemed his son in order that he
should not be bothered by the 37> for the five °%pw, for the money owed for the

1277 1°79 is considered as monies for which there is no creditor. No 375 can demand
payment for these five 2°9pw from the father. The father has the option of giving the j27 1779
money to whichever 172 he chooses. There is no one who will ever bother the father for the
money. In this case even X271 »aX agree that 1117 710 Y719 Q7R PX.

mooIn questions this (previous) premise:
—INI? 9299 112399 1Y MMINRT (owr 3,3p 97 KW Na2) INIYD PN 2290 NIYP 1IN0

However my °27 has a difficulty from the X123 in ®Xw P95 for the X123 relates;
"R1° 929 was asked what would be the ruling, where a tenant rented a house from a landlord -

UIf for instance the father of the newborn died before the newborn was thirty days old, it is assumed that the M2
was not redeemed, and he (still) needs to be redeemed. The reason is that since the father is not required to redeem
his 7102 until thirty days after his birth, it is assumed that he did not redeem him.

2 In the question, Moo perhaps assumed that the idea of 77702 X7 is that a person does not want to be bothered by
the fact that he owes money and cannot pay up. Therefore there seems to be no difference between 2"7175 and a loan.
In the answer Mo0IN assumes that 17707 X?7 means a person does not like to be bothered by the person to whom he
owes money. This is not applicable by 2"77179; only by a loan.
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— 37PN N2NY 9 DY FNDVI KT 9NIIN 9PIUNI INNI INDIN 919V
The tenant claims I paid the rent and the landlord states I did not receive the

rent; the question is on whom lies the responsibility to bring proof to his claim. The

X713 there continues to explore this query -
— 1179) NIV NPINA D DIYHY TINA “N1) NIIN 1INT TINI ON NN

When did this dispute take place; if the dispute took place during the time, i.c.
before the rent was due, and the tenant claimed that he had already paid the rent;
this cannot be since we have learnt in a 71wn that if the father died within thirty

days of the birth of the 7102 it is assumed that he was not redeemed; because
1"NoRR, the same ruling should apply by a 72w 2°5wn. The 90w is presumed not to have paid
since it is 1T TN2. Therefore we cannot be discussing such a case of 1", for the "W will
definitely not be believed. This concludes the quote from the X mx that is relevant to our

discussion. M»oIn will now proceed with his question -
— 119050 R 999110 7Y XD DNNT 91930 NY 91071 199N XYM

But now that n1901n just explained that by the case of 7122 everyone agrees that
1"NORY since the reason of 1771% 897 does not apply, how can the X113 compare the
case of 12w °own to the case of M3, for there by M2 the reason of 377u% KY is
not applicable, for it is Py 2 1RW 170; therefore he is assumed not to have paid war in.’

mooIN continues that on account of this XM3 we must rethink the status of 7770°% 897 X2%7 % in
regards to 7102.

— 715125913 P19 1Y 1 TOISY NINNT NTID NION 2133 919347 MY 7298 799
And therefore, since we see that the X731 compares 7152 to WM OWnH, we are
required to say that by a 7122 there is also the pressure of a mxn7 779, The
father wants this pressure of fulfilling the m¥n to be removed from him. The 7770
mxn7 is that one is obligated to give the money of 127 1175 immediately when the
child is thirty days old. The reason that there is a requirement to give it

3 Is the tenant obligated to prove that he paid, otherwise he still owes the rent, or does the landlord need to prove that
he did not receive the rent; otherwise the tenant is deemed to have paid the rent.
4 The n"21 M7 amends this to read TIN2 aga n»
5 By a 7w vown, however the 8120 of 17707 XY is very much applicable. The 2own will certainly bother the 23w
for his rent. Therefore (according to X271 ™2ax) it is likely that he may pay 11n1 73n. How then can the X3 infer from
the case of 7102 that we cannot be discussing a case of 1327 TIn by 2w 7own?!
6 If he will not pay for the 7277 1175 before the thirtieth day, the father may be concerned that on the thirtieth day, he
may not have the funds to pay for the 7277 1179 (or some other unforeseen situation may arise) and he will not be a
1. This pressure encourages him to pay before the due date.
7 Therefore we can compare 22 to 12N 2Wn because in both cases there is a 7770. By the 70w there is the 7770 of
the 9">wn and by the 7132 there is the mMx¥»n7 7770.
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immediately on the thirtieth day without delay is because for those who are eager
to perform a mx¥» do it at the earliest opportunity.

mooIn has resolved that by 721w 7°0wn as well as by 7102 there is a certain 7770, Nonetheless in
both cases we assume that it was not paid 117 710. The original question therefore remains. How
can X271 »2X maintain that on account of 71770 a person is 137 I ¥719, when we see that by 732
and 211 7w they do not pay 11»7 TI0?

moon presently addresses this issue.
— 9NN QYL PNYY 119 Y91

And the °"1 explains the difference between our case of X171 and the cases of

1277 11779 and 0w 0w with a different reason; not because that 1277 11079 is a PRW 7w

YN -
— 119059 X917 11910 TIN 1Y ¥ TR 199 909N 1Y 29N 1199 NINT

for here by a loan since the Mm% definitely owes the M1 and the m> happens to
have money, therefore the Mm% will pay the Mm%, even before the due date, in

order that the m%» should not bother the m> from the due date onwards; for he may still

not have the money then -
—909% 'Y TINA NN’ RNYI DY /T INNRT T HDD 29NN KD ININT 9993 %3 YaN

However by a 7122, the father will not redeem the 7122 before the thirty days are
up, for the father is not yet obligated at all to be 775 his son until after thirty
days have passed and® perhaps the child will die within the thirty days and the

father will be entirely exempt from 127 7779. Therefore by 2"770 the father does not pay

before the due date.
— 1193910 GTY NDT NNYY 99IY 79082 19990Wsn HYW 153 9199 XNY 7991 199

And similarly by a renter; for perhaps the landlord’s own house will collapse
and the tenant will be required to leave his rented house so that the landlord will
have where to live, for the tenant is not preferred over the landlord."!

8 The word ‘and’ emphasizes that there are two differences between a loan and 2"7779. By 2"7775 there is no obligation

at all to be 770 before the thirty days. However by a loan, the m% owes the money immediately, it is just that the

M agrees that he will not collect the debt until the due date. In addition, 2010 adds another distinction between a

78127 and 2"779; that by 2"779 it is possible that he will never owe the money. There is therefore no concern that he

may wish to pay in advance (on account of 1n*7pn 0°171), since there is the possibility that he will owe nothing. [See

however 717> on? n°a]. M°oW is similar to 2”779 and not to a loan; since he did not live the full term in the house, he

does not owe the rent.

% The 19 is not obligated at all to pay his rent before the due date. He will not pay his rent in advance in order to

avoid the future bother, for it is possible that he will never owe the (entire) rent.

19 See ‘Thinking it over # 3.

" If there is now only one house to live in, the landlord has the right to evict the tenant from his rented home. There
3
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moon has a different question:
— 993W 8N YNNI YWIPY WIIY TI9T KD NOYP 111910)

However there is another difficulty, that which the X713 challenges the opinion
of "1, who maintains that 1"naxx, from the case in our 71wn concerning a dividing

wall that collapsed in a 9271, The mwn rules that it is J3w NPIA2 even AT 70 (according to
the Twpn) -
— N231297 1)2 Y997 YIIN TIAYT N3 P11

And the 7wpn infers from this ruling that it is plausible that a person pays

before the due date. This seemingly contradicts the view of %" . This concludes mooIn
citation of the X . MdoIN continues with his question. Why is the X711 asking this question
only on %"9?

— 125551 NN NT NI NXY NNWT Y997 752y NIT 0NN ITINT SWPIN 1) N29) »aND

It is difficult for 8291 »»ar as well; for even though that generally they maintain
that 11 70 ¥119 078, however they will admit in that case of a ?m> that it is not
usual that he would pay before the due date. For (according to the X"177) the case
of M3 is similar to 1277 1179 and 2w 7°own, for perhaps the other party will not
build the wall.

N1D0IN answers:
$INNP KDY B790RP059) 9919 9195 MINYPM 1993 91159

However it is not such a difficulty; for in many instances the X723 could have
challenged the questioner by saying ‘and according to your opinion’ does not
the same difficulty apply; however, the X723 does not pose this counter challenge.'*

is the possibility that the tenant will not owe the landlord the rent, therefore we assume that he will not pay in
advance; similar to 127 1°79. By a loan however the m?, until he pays up, always owes the 7791 the amount of the
loan.
12 Just as by 2"7179 and 791 even R2M »aX agree that 7"NORX since there is the possibility that he will never owe the
money; here too by 991w 9> there is the possibility that the neighbor will never build the wall, therefore the ¥ani
will not pay 1"1n.
13 The thrust of the challenge "nyu> is as follows. A difficulty is presented on opinion ‘A’ that it seemingly
contradicts a particular source or concept; thus supporting the opposing opinion ‘B’. The challenge of 7vu>1 is that
the same (or another) difficulty remains even if we maintain opinion ‘B’. The fact that neither opinion A nor B can
be reconciled with the original source (concept) indicates that there is no difficulty with opinion A, but rather that
we are misinterpreting that source (concept). Once we understand the source properly, then the same resolution will
apply to both opinions A and B.
14 The same holds true here. The questioner challenged the opinion of 7" from the mawn, which seems to say that
I 12 ¥yI97 WK 72y, The R could have challenged this mwpn, who seems to be supporting the view of 2R
X237, and asked that even X271 »2X agree that in the case of a Ym0 there is no reason to assume that 3°32°1 132 ¥15. The
X3 instead gives the actual and relevant explanation that here, by a 921w 2> it is not a1 7In.

4

TosfosInEnglish.com



"2 a"7'01n 2,7 2" .7"02

SUMMARY

X271 »2X maintain that (by a loan) 1"ns o7X. By 1277 1779 as well as by a 10w 77Dwn
the X3 states explicitly that they do not pay 1™"n. Originally msoin sought to
differentiate between 2"775 and a nX1?7 that by 2"779 it is YA 12 PRY Pn
therefore there is no 7770.

moon had to rescind this opinion since the X3 compares 2"7175 to 10W; proving
that by 2"n79 there is also mxn7 770, The difference between mbP» and 2"77D
OWn is that by a M the MY definitely owes the money (even 1"n); however
by 1211 2"7175 (there is nothing owed 710 111 and) there is a possibility that it will
never be owed. Therefore it will not be paid 1"in. According to this, by =i 7m>
oo1w if it is considered 10 then X237 »ax would also agree with 2" that he will not
pay 1"1n.

THINKING IT OVER

1. What is the original difficulty from 71327 X271 »2X maintain that it is possible for
a person to pay 1»7 710, therefore if he claims so, he is believed, By 7133, however,
no one is claiming that the 7122 was redeemed, therefore we assume that he was not
redeemed!

2. What is the 17 if the father was 779 his m32 before the child was thirty days
old?

3. mooin explains that by a 927 it is possible that he will not have to pay, because
2wn Hw N2 19 ’aw. Why does not mnoin say that 921w 10°2 5w 919 xpw? '

4. In the second w"n the X773 cites the 71w of 101 X2w nprna. The Xna assumes that
he claims 1n71 7102 7°ny70 and therefore he is not believed. This contradicts »2X
X271. However according to n»o1n who maintains that X371 »2X agree that where
there is a o0 if he will be 217 then 1"noXX, in this case also there is a P90 if he
himself will build this wall. Therefore he will not pay 1", until he builds the

wall!'®

15 See footnote #10. See 7371 71"72 © NIX 7"210.
16 See X"wAmn. See also 1P NIX 221 72°K1 XD 0 7"210.
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